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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

T.B.C. : B-ABQB-N-LZS “Test Booklet Series

e rp— - r— .

TEST BOOKLET

ELEMENTARY MATHEMATICS
Time Allowed : Two Hours Maximum Marks : 100

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll
Number and Test Booklet Series A, B, C or D carefully and without any omission or
discrepancy at the appropriate places in the OMR Answer Sheet. Any omission/
discrepancy will render the Answer Sheet liable for rejection.

3. You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

4. This Test Booklet contains 100 items (questions). Each item is printed both in Hindi
and English. Each item comprises four responses {(answers). You will select the
response which you want to mark on the Answer Sheet. In case you feel that there is
more than one correct response, mark the response which you consider the best. In any
case, choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

6. All items carry equal marks. .

7. Before you proceed to mark in the Answer Sheet the response to various items in the
Test Booklet, you have to fill in some particulars in the Answer Sheet as per instructions
sent to you with your Admission Certificate.

8. After you have completed filling in all your responses on the Answer Sheet and the
examination has concluded, you should hand over to the Invigilator only the Answer
Sheet. You are permitted to take away with you the Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for
which a wrong answer has been given by the candidate, one-third of the marks
assigned to that question will be deducted as penalty.

{ii} i a candidate gives more than one answer, it will be treated as a wrong answer even
if one of the given answers happens to be correct and there will be same penalty as
above to that question.

(iii} If a question is left blank, i.e., no answer is given by the candidate, there will be
no penalty for that question,

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO
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1. Pipe A can fill a tank in 3 hours. But

there is a leakage also, due to which
it takes 3-5 hours for the tank to be
filled. How much time will the
leakage take in emptying the tank if
the tank is filled initially?

{a) 21 hours
(b} 20 hours
f¢j 18 hours

(d) 10-5 hours

2. A train takes 10 seconds to cross a

pole and 20 seconds to cross a
platform of length 200 m. What is
the length of the train?

{a) 50 m
(b) 100 m
{fc) 150 m

(d) 200 m

3. A, B and C can do a piece of work

individually in 8, 12 and 15 days
respectively. A and B start working
together but A quits after working
for 2 days. After this, C joins and
works till completion of the work.
In how many days will the work be
completed?

8
a) 3-— days
(@) >3 Yy
(b) 5~8~ days
9
{c) 5—23- days

(d) 671-8- days

B-ABQB-N-LZS/1A

4. The distance between two points

(A and B) is 110 km. X starts
running from point A at a speed of
60 km/hr and Y starts running
from point Bat a speed of 40 km/hr
at the same time. They meet at a
point C, somewhere on the line AB.
What is the ratio of AC to BC?

(a) 3:2 () 2:3
fc 3:4 (d) 4:3

5. Ais thrice as efficient as Band hence

completes a work in 40 days less
than the number of days taken
by B. What will be the number of
days taken by both of them when
working together?

{a) 22-5 days
(p) 15 days
{c) 20 days
{d) 18 days

6. If 10 persons can dig 8 feet trench in

12 days, then how many days will
8 persons take to dig 6 feet trench?

{a) 10 days
(b) 10:25 days
fc) 11 days
{d) 11:25 days

7. The height of a tree varies as the

square root of its age (between
5 to 17 years). When the age of the
tree is 9 years, its height is 4 feet.
What will be the height of the tree
at the age of 16 years?

{a) S feet 4 inches
(b} 5 feet 5 inches
(c} 4 feet 4 inches
{d) 4 feet S inches

Download More Papers From GovtJobsAlert.In


https://govtjobsalert.in/

Download More Papers From GovtJobsAlert.In

1. 7@ A fft 3t =t 3 902 & s oewan R,

g I uw fna oft R, R wror 24l
F AR W 3 3-5 g2 @ 81 AR wmew
3 w g R, O e F e =@
et ¥R 1 fran wwg em?

{fa) 219w
(b} 20 T
fc) 18 =we
(d) 105 awe

2. & W 5l @ N | oww

10 8% o<t & 3 200m W=
EHE B qR FE H 20 YRS Sl )
YTt R s T 27

fa) 50 m

(b} 100 m
{cy 150 m
(d) 200 m

3. A, B 3N C -k frel w1 Al

FOq: 8, 12 3R 15 At # qu @+ #)
A ¥R B fieiar w1 J& w8, W A
2 7 =8 F1 F vgq FW B @ B
9% 9gN C afifera @t &, S w7 R
ot 9% a e Fd s ) w5
F guf B9 & fopad fom @i?

8

{a} Saﬁ?
8

(b) 56 f&m
2

1
(d) eﬁﬁq

B-ABQB-N-LZS/1A

4. 2 fagett (A 3 B) & #9 110 km &
Zht 21 X g A ® 60 km/hr i =1e1 A
AT AW F ¢ 3 I T v fag
B ¥ 40 km/hr I =& ¥ e I
wa 81 9 AB W w Bt g c W@
fired 31 AC %1 BC ® sigua & 37

(a 3:2 (b) 2:3
fc) 3:4 (d 4 :3

5. Al gaal B ¥ € T 2, ota: et v
® W FA A A, BER @ e A h
g= ¥ 40 7 Fw wma gy AN A
T & q@ w61 & fran fm e

(@) 225 fa
(b} 15 &
fc) 20T=
(d) 18 A

6. IR 8 Fz @K A @ ¥ 10 AR B
12 fA &m €, @t 6 32 =R : gt
8 =kl w1 fhe fem win?

(@) 10 =
(b) 10-25 f&
) 11%=
[d) 1125 A

7. e 93 A S seh g F wigE
3TJER Feerd! § (5 / 17 61 & )|
wa ¥ A 9y 9 af 2, A wh I
4 %2 3l 16 94 I g | @ I3 HI
S @ e
(a) 5243
(b} 5% 5%

() 4Fz4iE
(d) 4%e53

[P.T.O.
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8. The ratio of ages of Aand Bis 2 : 5 12. A sum of money becomes 3 times in
and the ratio of ages of B and C S years at simple interest. In how
is 3 : 4. What is the ratio of ages of many years will the same sum
A, Band C? become 6 times at the same rate of
(@ 6:15: 20 simple interest?

b) 8:5:3 {a) 10 years
) 6:5:4 (b) 12 years
(d 2:15:4 (c) 125 years

d} 105
9. When an article is sold at 20% (d} years

discount, the selling price is ¥ 24,

What will be the selling price when -13. A man buys 200 oranges for ¥ 1,000.

the discount is 30%? - How many oranges for ¥ 100 can he
sell so that his profit percentage is
(@) ¥ 25 25%?
fb) ¥ 23 faj 10
(¢ ¥¢21 (b) 14
(d) ¥ 20 ¢/ 16
10. A shopkeeper sells his articles at (d) 20
their cost price but uses a faulty
balance which reads 1000 g for 14. If m% of m+n% of n=2% of (mxn),
800 g. What is his actual profit then what percentage of m is n?
percentage?
(a) S50%
(a) 25%
(b) 75%
(b) 20%
(c) 100%
fc} 40%
(@ 30% {d) Cannot be determined due to

insufficient data

11. The difference between compound
interest and simple interest for
2 years at the rate of 10% over

15. If the side of a cube is increased
by 100%, then by what percentage

principal amount of € X is ¥ 10. s the surface area of the cube
What is the value of X? increased?
(@) ¥ 100 (@) 150%
(b) € 1,000 (b) 200%
() T500 - (c) 300%
(d) ¥ 5,000 | (d) 400%
B-ABQB-N-LZS/1A . 4
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8. A3 BHA I H UG 2: 5 & aM 12. 5 387 T WURY AN W S 7R 3

B 3R C # Y | IEH 3:4 B A ot} G S i gIE W W
} A, B3 CH g Wt g w87 3t gl forem ast 7 6 T B e
fa) 6 :15:20 {a) 10 3§
(b} 8:5:3 () 12 a8
6:5:
@ 4 (c) 12:53T4
d 2:15:4
(d) 105 ad

9. ¥« fhdl a8g F 20% H F | I=1 I
&, i 3uht fosra Fima € 24 21 30% i 13. %1§ =afe 200 G € 1,000 ¥ wliem 3y

Q2 T T Iueht fasra g 7 Svft? o ¢ 100 # fohaqt gt a9 kT @ Wl
@ &25 ' et T -widsRar 25% 817
(b} ¥ 23 @ 10 '
{cg T 21 (b) 14
(d) & 20 © 16

10. ©h SHFCGR I IRgalt Fl I AP (@ 20
$ia W =@ 3, W I8 T Qg0 TR
F oW F@ L, W 800g F R 14. I m FM m%b+n | n%=(mxn) &
1000 g vl 21 seh arafys @mi- 2% &, [ n, m % T wfera R7
wfcreraar @ 87 (@ 50%
(@) 25% () 75%
(b) 20% () 100%
(e) 40% (d) FuEi AES & FRU g6 @ B
{d) 30% —

. € X % W % Y
" %Wﬁmﬁq{a;%%a‘:q:fﬂf:jm 15. af fRll o A =1 100% e i WL, @

N # T 10 & =W B X B AH A wOE g A e sfew 5
27 s
(@ ¥ 100 (@) 150%
() ¥ 1,000 (b) 200%
) € 500 c) 300%
(d) ¥ 5,000 (d) 400%
B-ABQB-N-LZS/1A 5 [P.T.O.
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16. How many pairs of positive integers
m and n satisfy the equation

1

12

<4

RN

1
m

where n is an odd integer less
than 607

(aj 7
b) 5
fc) 4

(@) 3

17. The sides of a triangle are in the
.1 1.1 . . .
ratio —:—:—. If its perimeter is

2 3 4

52 cm, then what is the length of
the smallest side?

fa) 9 cm
(b} 10 cm
f¢/) 11 cm

{d} 12 cm

18. The diameter of a metallic sphere is
6 cm. The sphere is melted and
drawn into a wire of wuniform
circular cross-section. If the length
of the wire is 36 m, then what is
its radius equal to?

{a) 01 cm
{b) 001 cm
{c¢j 0:001 cm

(d) 10 cm

B-ABQB-N-LZS/1A

19. Consider all those two-digit positive
integers less than 50, which
when divided by 4 yield unity as
remainder. What is their sum?

{a) 310
(b) 314
(c) 318
(dj 323
20. If every side of an equilateral triangle
is doubled, then the area of new

triangle becomes k times the area of
the old one. What is k equal to?

() V3
(b) 2
(c) 4
(d) 8

21. If a, =3-4n, then what is
a, +ta, +ay +---+a, equal to?

|i1+2+3+4+---+n=ﬂ12ﬂ}

(a) -n@n-3) (b -n2n-1)

() -n? (d) -n2n+1)

22. A train travels at a speed of
40 km/hr and ancother train at a
speed of 20 m/s. What is the ratio
of speed of the first train to that of
the second train?

fa) 2:1
(b} S5:9
fc) 5:3
{d) 9:5
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16. UAHE QUH m IR n F e gw

rica

+

SRR

1
12
Fl, 5TEl n, 60 ¥ * fawm s R, age
Ha 87

3~

faj 7
@ s
fc) 4
d 3

1

17. ﬁ:ﬁﬁgaaﬁgaﬁ%:%:z%maﬁ

g1 AR o ofmE 52 cm @, @ TR
B s hit T T 17

fa) 9 cm
(b) 10 cm
fc) 11 cm

(d) 12 cm

18. Tt wifes M = =@ 6 cm 21 A =
fIoeeR 3 T i ApRY @R
I T ar & §q A i wn @) gl 9w
# =g 36 m g, @ Ih B Fa
F R 7

{a) 01 cm
(b) 001 cm
{c) 0001 cm

{d) 1:0 cm

B-ABQB-N-LZS/1A

19. 50 } ¥ I Wft Feidhy aens ke
w fem fifve, R ak 4 & wm e
SMe, q IR VYGA 1 BN ITEH AN RN
134
(@) 310
(b) 314
fc) 318
{d) 323

20. 7Rk frelt Tmamg P it wEE O #
AW R wwm, @R oW
AP T B & A% & kT A
ST R 1k HHE 127
fa) V3
(b) 2
c) 4
(d) 8

21. Ife a, =3-4n, kil
a +ay +ag + - +aq, %A EAM?

[1+2+3+4 +tn= n(n2+ 1)]

(@) -ndn-3) (b) -n2n-1)

2

(c) -n {d) -ni2n+ 1}

22, TF WM 40 km/hr i 9 ¥ Jad! ¢
W{gﬂiﬁ’ﬁ@ZOm/sﬁWﬁ
Jodll 1 Teelt @ F ww w1 @l
T Y AN | AU W R?

@ 2:1
) 5:9
fc) 5:3
[df 9:5

[P.T.O.

Download More Papers From GovtJobsAlert.In


https://govtjobsalert.in/

Download More Papers From GovtJobsAlert.In

23. (x+y):(x-y)=3:5and xy = positive
imply that

{a) x and y are both positive
(b} x and y are both negative

{c) omne of them is positive and one
of them is negative

(d) no real solutions for x and y

exist

24, How many pairs of X and Y are
possible in the number 763X4Y2, if
the number is divisible by 9?

(a) 8
(b} 9
c) 10

(dj 11

25. What is the remainder when 41912 g
divided by 7?

(@ 1
(b) 2
(0 3
(d) 4

26. What is the highest common
factor of 2x3+x2-x-2 and
3x3 -2x2 + x-2?

faj x-1
(b) x+1
fc) 2x+1

{d 2x-1

B-ABQB-N-LZS/1A

27. What is the remainder when
(1235x4523x2451) is divided by
12?7

(@) 1
(b) 3
c) 5
d 7

28. What is the remainder when
(1723 +2323 4 2923y is divided by 23?

(@) 0
(b} 1
(¢ 2
(d) 3

29, p, q and r are prime numbers such
that p<g<r<13. In how many

cases would {p+q+r) also be a
prime number?

fa) 1
(b) 2
fc) 3

(d) None of the above

30. The LCM of two numbers is 90 times
their HCF. The sum of LLCM and
HCF is 1456. If one of the numbers
is 160, then what is the other
number?

() 120
(b) 136
(0 144

(d) 184
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23. (x+y):(x-y)=3:5 3N xy = 4R, 27, (1235x4523x245]) % 12 @ WM A |
R EC R IAEE T 87
-(a} xaﬂ'{y?ﬁ:ﬁ?ﬁﬂmﬁ fa) 1
(b) xR y A & Fonens § (b} 3
() QA TH wIHF § AW I A o () 5
AR & ' d 7
(d) x 3 y & R F¢ aafes =
foremm 7t & 28. (172342323, 208y F 3 A M A W
% FT 87
24. HEN 763X4Y2 § X 3R Y & fr qm (@ 0
g 3, 9it v 9 @ vy @Y
() 1
fa) 8 © 2
() 9 @ 3
(c) 10
@ 11 29. p, g 3R r | TER H WY TEAE §
& p<g<r<13 2| fraft =mmatt 3
25. 41012 3} 7 @ ym A W Quww w=w 27 (p+qer) s e e
(a) 1 @1
b 2 (b) 2
© 3 {c) 3
@ (d) I & ¥ S T

30. 2 FEw3A F LCM I HCF & 90 T

- 26. 2x3+x2-x-2 3 3x3-2x24x-
x“-x X7 =2x"+x-2 F %1 LCM 3R HCF F1'9W 1456 21 aRR

TEAW NIEae ] 27 T E&TT 160 2, A g@l ged w4 27
fa) x-1 (@) 120
(b) x+1 (b) 136
(c) 2x+1 (c) 144
(d) 2x-1 (d) 184
B-ABQB-N-LZS/1A 9 [P.T.O.
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31. The LCM of two integers is 1237. 34. If ax +by-2 =0 and axby = 1, where
What is their HCF? a#0,b#0, then whatis (ax + b2 y)
equal to?
{aj 37
(b) 19
{fa) a+b
) 1
{d} Cannot be determined (b) 2ab
32. What is
11 2b ab® 87 () a®+p°
a-b a+b g?2+p? a*+b* a®-p8
equal to? . d a*+b*
(@ a+b
(b} a-b 35. Consider the following statements :
{c 1
1. {a-b-c)is one of the factors of
(d 0 3abc+ b3 +c3 ~ad.
33. A man rides one-third of the distance 2. (b+c—1)is one of the factors of

from A to B at the rate of x km/hr
and the remainder at the rate of
2y km/hr. If he had travelled at a
uniform rate of 6z km/hr, he could
have ridden from A to B and back
again in the same time. Which one
of the following is correct?

3be+ b3 +c3 -1

Which of the above statements
is/are correct?

(@ z= x+.y fa) 1 only
(b) 3z=x+y (b) 2 only
{c) l = ._].'. + ..1_
z x ¥y {¢) Both 1 and 2
(d) 1.1 + 1 _
22 x Yy {d) Neither 1 nor 2
~ B-ABQB-N-LZS/1A 10
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1
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w0 g7
(@) 37
b) 19
€ 1
(d) Fruffa 7€ B s s

1 2b 4p3 8b7

a—b"a+b—a2+b2 -a4+b4 _as-bg

forera s 7
fa) a+b
(b} a-b
fe) 1

[d o

33. #§ =fh A ¥ B & 6 w-fed @

xkm/hr ! ¥ 79 w@r § M M\
T 2ykm/hr A R A 99 =@ 2| IR
98 6zkm/hr & THEAR W ¥ IE
FHal, @ 98 A ¥ B aw dR R amm
I € amg & o wwar o) Pl &
® -7 | 27

fa) z=x+y

(b) 3z=x+y

@ 11,1
zZ x y

(d)

1
=4
X

@ | =

L
22

B-ABQB-N-LZS/1A

11

34, R ax+by-2=0 a3tk axby = 1, el

az0, b#0 @&, @ (a%x+b?y) frak
TR §7

fa} a+b

(b} 2ab

¢) ad+b3

(d) a%+p*

35. Fafele FoFt w far $ifdw .

1. (@a-b-c¢), 3abc+b3+c?-43
¥ TuEeet # @ o Ry

2. (b+c-1), 3bc+b3+c3 -1 &

TUFEYE 7 | TF B

ST WA & B/ ' A/

(@) ¥ 1

(b) FaT 2

(¢ 1323

(d I@1rad2

{P.T.O.
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86. 710_510 ig divisible by 38. What is the number of divisors
of 3607
@ 10 (@) 12
(b) 18
(b) 7
{c) 24
) 5

(d) None of the above

(d) 11 39. The multiplication of a three-digit
number XYS with digit Z yields
X215. What is X+Y + Z equal to?

37. Consider the following statements (aj 13
in respect of four spheres A, B, C
and D having respective radii

6, 8 10 and 12 cm : (b} 15
1. The surface area of sphere Cis (¢ 17
equal to the sum of surface
areas of spheres A and B. d 18

2. The volume of sphere D is
equal to the sum of volumes

40. If the equation x2+2(1+kjx+k2 =0
of spheres A, B and C. aq ( )

has equal roots, then what is the

value of k?
Which of the above statements
is/are correct? (@) =
{a) 1 only

1

(b) 5
(b) 2 only
(c) Both 1 and 2 fc) 1
(d) Neither 1 nor 2 d -1

B-ABQB-N-LZS/1A 12
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36. 7!0- 510 o wrsw 27 38. 360 % WIS N w7 27

@) 12

{a} 10
(b) 18

(b} 7
) 24

(c) S (d} I | | S A

[d) 11

39. dR-3Hg G= XY5 F IFF Z F qY
THSA X215 21 X +Y + Z f5ush susn

27
37. S WG 4, B, € 3k D H fsard w: (@ 13
6, 8, 10 3 12cm & A Mal F
g § Frafafiae wuet w fem it . (b) 15
1. M C & ysa &%, Met A 3k © 17
B % gdlu &wal ¥ AW F e
2 (d) 18
2. T D ® UG, Mel A, B3R C
¥ Sl & A F O B
40. IR} wE® x2+2(1+k)x+k2=0 &
T 0@ &, @ kWO 7
I el H / -/ Q 6 /7
@ =
2
fa) a1
) -=
(b) a2 2
fc) 13 2H ) 1
(d IR 1MW 2 d) -1
B-ABQB-N-LZS/1A : 13 s YPITRO
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roots of

2iax+b=0, and

the equation x

m? and n? are the roots of the

equation x2-cx+d =0, then which
of the following is/are correct?

1. 2p-a?=c¢

2. b?2=d

Select the correct answer using the
code given below.

faj 1 only
{b) 2 only
{c Both 1 and 2

(d} Neither 1 nor 2

42. If N2-33, N2-31and N?-29 are

prime numbers, then what is the
number of possible values of
N, where N is an integer?

{a) 1

(b) 2

{c} 6

{d) None of the above

B-ABQB-N-LZS/1A

14

43, There are 48 cricket balls, 72 hockey

balls and 84 tennis balls, and they
have to be arranged in several rows
in such a way that every row
contains the same number of balls
of one type. What is the minimum
number of rows required for this to
happen?

(@) 12
(b) 16
(c) 17
(d) 19

44, The HCF of two natural numbers

m and n is 24 and their product
is 552. How many sets of values of
m'and n are possible? ’

(a) 1
{b) 2
c) 4

{d) No set of m and n is possible
satisfying the given conditions

45. If m and n(m > n) are the roots of

. the equation

7(x +2a)? + 3a? = 5a(7x +23a)

where a> 0, then what is 3m—-n
equal to?

fa) 12a
(b) 1l4a
{c) 15a

(d) 18a
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41. IR wiT x%+ax+ b= 0% q@ m 3Kk 43. fphe A 48 T, FH i 72 W M

n @ a1 WH x2-cx+d = 0 % @ 2 A 84 7 = el H @ s
m? R n2 @, @ Cefte § 8 aaﬁﬁam?%mqﬁsﬁ@m
F-T1/Q 7@ /37 A R v den § oW oy}
' | R oaf@m FA F R sreavaw =<Eew
1. 2p-a2=¢ uftrgt I wem w R7
2. b%=d (@) 12
¥ Ry Mg oM W oad W (b) 16
RIS ' € 17
(d) 19
(a) T 1
44, T gl g&RAl m 3R n F HCF, 24 §
(b) FIA 2 R I EFA 552 Bl m I n F
A % R T w7
(c) 132 @ 1
- 2
(d) [d13mad2 ®
fc) 4
(d) @ 7§ Wl w owgE 1 F e
m ¥R n 1 i G TV TEl ¥

42, 3R N?-33, N?2-31 gm N?-29
et @, A :
ﬁﬁ%%“ﬁl\fifﬁg:’ pr 45. I m 3 n(m > n) TftEw

7(x +2a)? + 3a? = 5a(7x +23a)

@) 1 A 8, & a>08, @ 3m-n frek
O 27
(b) 2 (a) 12a
© 6 (b) 1l4a
{c) 15a
(d) I 7 7 7 T (d) 18a
B-ABQB-N-LZS/1A 15 ' © ' 2 FPTO.
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46. A person selling an article for ¥ 96 49, What 1is the lowest common
finds that his loss percent is multiple of ab(x? + 1)+ x(a® + b?)
one-fourth pf the amount. of rupees “and ab(x? - 1)+ x{a? - b2)?
that he paid for the article. What
can be the cost price?

(a) (a%x?-b?)(a+bx)
() ¥ 160 only

(b} ¥ 240 only

2 2_b2 b 2
(c) ¥ 160 or ¥ 240 {b) (a“x )(a + bx)

(d) Neither & 160 nor ¥ 240

() (@*x?-b?)(a-bx)
47. If (x+k) is the common factor of
x2+ax+b and x2+cx+d, then

what is k equal to?

2.2 3.2 _ 2
(@) (d-b)/(c-a) (d) (@“x*-b*)a-bx)

Ld
(b) (d-b}/la-c)

(c) {d+b)/c+a) 50. A certain number of two digits is

three times the sum of its digits. If

(d) (d-—b)/(c+a) ) 45 is added to the number, the
digits will be reversed. What is the

 sum of the squares of the two digits

of the number?
48. What is the remainder when

x5 - 5x% +125 is divided by x + 5?

fa) 41
fa) O
(b) 45
(b) 125
¢ -3125 (e) 53
(d) 3125 [d) 64
B-ABQB-N-LZS/1A 16
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46. UF =it fhefl a5 =1 € 96 & A9a § 3in

urar § o Seem ef-nfmm 3% g wg
& forw g v wwafy W wE-<end
TR e 18 W 87

{a) Fad € 160

(b) %@ ¥ 240

(c) T 1607 ¥ 240

(d) F4t €160 I I & 240

47. R x2 +ax+b 3 x2 +ex+d & T

TGS (x + k) B, @ k Fras soet 87
fa) (d-b)/(c-a)
(b} (d-b)/la~c)
{c) [d+b)/lcta)

(d) {d-b)/(c+a)

48. e x° - 5x2 +125 % x + 5 ¥ iR

fn <y, < www w0 27
@) ©

() 125

() -3125

{d} 3125

B-ABQB-N-LZS/1A

49. ab(x? + 1)+ x(a® + b?) 3

ab(x? - 1)+ x(@? -»b?) W oYW

A #4127

{a) (a®x? - b?){a+bx)

b) (@®x? -b?)(a+bx)?

c) (@°x? -b?)(a-bx)

(d) (@®x? -b?j(a-bx)?

50. 3 3iHt it I W I9F W F A H

d T ) R e d 45 e wmw,
A AiF IohMa @ S g ¥ A

3i & il o e 87

{a) 41

(b} 45

fc) S3

(d) 64

{P.T.O.
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51. If from the top of a post a string

twice the length of the post is
stretched tight to a point on the
ground, then what angle will the
string make with the post?

{a) n/6
(b) /4
{¢/ 5S5n/12

(d) /3

52. The price of a commaodity increased

by 5% from 2010 to 2011, 8% from
2011 to 2012 and 77% from 2012
to 2013, What is the average price
increase (approximate) from 2010
to 2013?

(@) 26%
(b) 32%
) 24%

(d) 30%

53. A railroad curve is to be laid on a

circle. What radius (approximate)
should be used if the track is to
change direction by 25° in a
distance of 120 m?

(aj 300 m

(b} 280 m

fc 275 m

(d) 264 m

B-ABQB-N-LZS/1A

54. If 0«06« %, then  what

+¥1-2sinBcos® equal to?

(a) cosB-sinb
{b) sin®-cos6
(¢} x{cos@-sin8)

(d) cosBsinB

55. If tan8+cotb =2, then what
sin® +cos8 equal to?

1
(@) 5

(b) %

fc} V2

(d 1

56. What is — <~ ___
cotx +tanx

equal to?
{a) sinx
(b) cosx
{¢) tanx

{d) cotx
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‘51, IR ot T A wEnd | gR @ uw
T F A & woaw & fedt fag @
FOR G S, @ am @ ¥ @y
e o sFTET?

fa) =/6
(b) m/4
(c) 5m/12

([d) mn/3

52. f&dl sy f fma # 2010 @ 2011 &F
5%, 2011 ¥ 2012 T 8% a1 2012

¥ 2013 T 77% H FfE B ¥ 2010
¥ 2013 & 3fEa Ama Fhe (Fgama:)
w7 87

(a) 26%

(b) 32%
(c) 24%

(d) 30%

53. & omr 9% fomlt g9 W fasrn s g
' e Brem (smgemm:) &t s =R,
7fe temel # 120 m A gh F 25° R
a7
(a) 300 m
(b) 280 m
) 275 m

(d) 264 m

B-ABQB-N-LZS/1A

19

54, af 0<e<§, @ J1-2sin6cosb

forh ST 87
(a} cosO-sinb

(b)

sin ~cosH
{c) t{cos8-sin)

(d} cosBsiné
55, IR tan6 + cotb =2, M sind+cosH
foraes s 37

1
(0)5

()

@l =

(c) 2

d) 1

56. ——CX fymd st 27

cotx +tanx
{a) sinx
{b) cosx
{c) tanx

{d) cotx

[ p. T.'-‘O.r

Download More Papers From GovtJobsAlert.In


https://govtjobsalert.in/

Download More Papers From GovtJobsAlert.In

57. From a certain point on a straight 59. What is
road, a person ohscrves a tower in
the west direction at a distance of
200 m. He walks some distance
‘along the road and finds that the
same tower is 300 m south of him. equal to?
What is the shortest distance of the
tower from the road?

2

(:s.in2 x - cos? x){1-sin xcos? x)

(a) sin® x -cos* x

300
al ——
@ 73
{b) sin® x - cos® x
(b) 500

8 8

{c) cos® x-sin” x

(c] —Jﬁm . .

(d) sin® x-cos® x
(d) —= m
sinx-cosx+1

58. What is — equal to? 60. What is
sinx+cosx-1

(sinxcosy +cosxsiny)

(@ 22X 1 (sin xcos y - cos xsin y)
cosx
equal to?
(b) sinx + 1 s 2
cOoS X {a) cos“ x-~cos“y
(b) cos? x - sin? Yy
sinx -1
(o) —_—
(e cosx+1
{c} sin? x - cos? y
() sinx+1
cosx+1 {d) sin? x - sin? y
B-ABQB-N-LZS/1A 20
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57. #1 Ahw & it vee & et ©& fog & 59. (sin? x - cos? x)(1 -sin? xcos? x)
et AR A wizm feam & 200 m B Fhth Ut 27
W @M ¥ 98 ARF W TSF R F3 T
T W a6 adt deaw sew qfim
& & 300m #it @ = B R Hi
HeF Q wgan g 1 7

{a) sin® x-cos? x

300
J13 6 6

(b} sin” x-cos” x

(a)

500

(b} mm

fc) cos® x -sin8 x

¢) —=m
(d} sin® x - cos® x

(d) —= m

60. (sinxcosy+cosxsiny)
(sin xcos y - cos xsin y)

foraeh e 27

58, SINX-COSX+1 oy qumn 7
sinx+cosx-1

sinx 1 {a} cos? x - cos? Y
(@)
cos X
(b) sinx + 1 (b) cos? x -sin? y
cosx
{c) sinx -1 {c) sin? x-cos?y
cosx+1
i 1
g Sinx+ . '
@ cosx+1 (d) sin? x - sin? Y
B-ABQB-N-LZS/1A 21 ., .- {P.T.0.
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61. What is
(1+cotx —cosecx)(l + tan x + sec x)
equal to?
(a) 1
(b) 2
{c) sinx

{d} cosx

62. What is _
{cosecx - sin x)(sec x - cos x)({tan x + cot x)
equal to?
{a} sinx+cosx
(b) sinx-cosx
c) 2
fd) 1
63. Consider the following statements :

1. sinPP>sinl
2. cosl’<cosl

Which of the above statements
is/are correct?

fa) 1 only

(b} 2 only

{¢/ Both 1 and 2
{d) Neither 1 nor 2

64. If sinx +cosecx =2, then what is

sin® x + cosec? x equal to?

fa) 2 (b) 18
¢} 512 (d) 1024

65. If
sin

sinx+cosx = p and

3x+cosdx = g, then what is

p3 - 3p equal to?
fa O (b) -2q
c) 2q (d) 4q

B-ABQB-N-LZS/1A

66. What is the number of pairs of
perpendicular planes in a cuboid?

(a) 4
(b) 8
fcj 12
{d) None of the above
67. How many equilateral triangles can

be formed by joining any three
vertices of a cube?

@ 0
(b) 4
) 8

{d) None of the above

For the next two (2) items that follow :

ABCD is a trapezium in which ABis parallel
to CD. Let M be the midpoint of BC

68. Consider the following statements :

1. ‘Area of triangle ADM + Area
of triangle DCM’ is equal to
three-fourth of the area of
trapezium ABCD, if AB = CD.

2. ‘Area of triangle DCM + Area of
triangle ABM’ is always greater
than half of the area of
trapezium ABCD.

Which of the above statements
is/are correct?

{a) 1 only

{b) 2 only

¢/ Both 1 and 2
{d) Neither 1 nor 2
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61. (1+cotx —cosecx)(l+tanx +secx)
e seR 77
fa) 1
(b) 2
fc) sinx
{d} cosx

62.

- (cosecx - sin x) (sec x — cos x){tan x +cot x)
fores s 87

{a) sinx+cosx

(b} sinx-cosx

fc) 2

fd) 1

63. Ffeien sl W fam fifs .

1. sinP>sinl

2. coslP<«cosl

IR oAl d A PR-T /W B B/37
fa) FId1
(b) Ha@ 2
c) 1323
) Ad1amad2
64. df sinx+cosecx =2 %, @
sin? x + cosec? x foFwFh wUaT 87
(@) 2 (b) 18
(¢} 512 (d) 1024
65, afk sinx+cosx=p 2 Gt
sin® x +cos3 x = q %, a p3 -3p
foraeh SR 7
{@ O (b) —2q
fc 29 (d) 4q

B-ABQB-N-LZS/1A

66. ATV THFR SIHEE U o awaa
¥ foFemt gm &7

fa) 4
(b) 8
© 12
(d) 0w & & HE T

67. T o % Reedit i =it =1 e | fobe
Ty BNge ST 1 Wehd &7

fa) O
(b) 4
{c} 8

(d) I § A A T

3 3 e {Y (2) T & g
ABCD TF guena &, @i AB, CD & ¥R &

wA it f5 M, BC w1 naafag ®)

68. PR el | e Hifsw -

1. ‘B ADM & &3%a + B
DCM %1 8%« WA ABCD %
Ak & dF-aE & SR B, ai
AB=CD®|

2. ‘Bys DCM = &a%w + B
ABM ¥ &%d U THH
ABCD ¥ 87 & 313 @ g1 3

3 Feml f @ FH-T/H T /2
(@) FFd 1

(b) ¥ 2

) 1323

(@) qa‘uaﬁ(a'@m

[P.T.O.
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69. Consider the following statements :

1. ‘Area of triangle ADM - Area
of triangle ABM’ is always
equal to area of triangle DCM,
if AB=CD.

2. Half of area of triangle ABM is
equal to one-eighth of area of
trapezium ABCD, if AB=CD.

Which of the above statements
is/are correct?

Which of the above statements are
correct?

(a)
(b}
)
{a)

1 and 2 only
2 and 3 only
1 and 3 only

1,2 and 3

72. Consider the following :

fa) 1 only
(b} 2 only
(¢ Both 1 and 2

{d) Neither 1 nor 2

70. ABCD is a parallelogram. P and R
are the midpoints of DC and BC
respectively. The line PR intersects
the diagonal AC at Q. The distance
CQ will be equal to

{a) AC/4
"(b) BD/3
(0 BD/4

(d) AC/3

71. Consider the following statements in
respect of an equilateral triangle :

1. The altitudes are congruent.

2. The three medians are

congruent.
3. The centroid bisects the
altitude.
B-ABQB-N-LZS/1A ' 24

ABC and DEF are triangles in a
plane such that AB is parallel to
DE, BCis parallel to EF and CA is
parallel to FD.

Statement—I :

If angle ABC is a right angle, then
angle DEF is also a right angle.

Statement—II :
Triangles of the type. ABC and DEF
are always congruent.

Which one of the following is correct
in respect of the above statements?

(a)

(b)

(c)

(d)

Statement—I and Statement—II
are correct and Statement—II
is the correct explanation of
Statement—I

Statement—I and Statement—Iil
are correct and Statement—II
is not the correct explanation
of Statement—I

Statement—I is correct and
Statement—II is incorrect

Statement—] is incorrect and
Statement—II is correct

Download More Papers From GovtJobsAlert.In


https://govtjobsalert.in/

Download More Papers From GovtJobsAlert.In

69. Fimfafay suat w famw Hifsg .

1. ‘Be ADM 1 @k - e
ABM ® &5%d Wed B[ DCM
% A% & TR g, AR AB=CD
!

2. N[ ABM ®1 oW1 &%d e
ABCD % &9%d & a7ed fed &
W R, IR’ AB=CD R

Itk wodl A FA-T/Q wH R/E?
(a) &4 1

(b) Fad 2

(c) 13K 2 I

(d @ 1IMAA2

70. ABCD & §u =gy« 81 P 3t R
FAN: DC M BC & wwfag 1 &
PR, fawot ACc ®t 0 W whrdfta =
21 gt cQ forad s git?

fa) AC/4
() BD/3
(c BD/4

{d AC/3

71. & wHag Bom & wed d Pefafaa
et o foram AR

1. Yidena waiTER B 1
2. =t Tt gatraw St §
3. ¥k, Miaa & Rwfia s 21

B-ABQB-N-LZS/1A 25

S wudt § § BH-R w9 &7
(@) ¥Fa@ 1 3R 2
() *ad 23 3
c) Fae 1MW 3
(d 1,233

72. Pafafiga w famm fifsx

% 99ad § ABC 991 DEF 38 W&R &
s & f% AB, DE & watm 2; BC,
EF & TH=R ¢ 3R CA, FD & w=n
gl

B :

R FN ABC TF THEH B, @ FO
DEF it G T B

HFYA-II

ABC @01 DEF 9@ @ wéa wafmem
7 £

I4® Al & aed # fafafew 3 @
FH-T1 T | 27

fa) FF-1 a FHE-I T & T
F-11, HUA-] 6 TE R 2

() FF-1 § HF-1 §E{ T AN
FA-11, FF-1 H T mTEn T

S
(c) oA~1 T B qU1 HYH-1I 7o 8

(d) FUE-1TEE § AU wA-11 T B

. 4 [ B+TF.-0.
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73. Let the incircle to a triangle ABC

touch BC, AC and AB respectively
at the points X, Y and Z.

Statement—I :
If AB> BC, then
AB+ AZ < BC+ XC

Statement—II :
AZ = AY

Which one of the following is correct
in respect of the above statements?

fa) Statement—I and Statement—II
are correct and Statement-—II
is the correct explanation of
Statement—I

(bj Statement—I and Statement—Il
are correct and Statement—II
is not the correct explanation
of Statement—I

(c) Statement—I is correct and
Statement—II is incorrect

{d} Statement—I is incorrect and
Statement-—II is correct

74. let ABC be a triangle in which

LACB=60° and AC=x< BC. Let
the circle with centre at C and
radius x meet BC at D. Let CF
be the perpendicular drawn from
C meeting AD at F.

Statement—I :

Triangle ACD is isosceles but not
equilateral.

Statement—II :
DF =x /2

B-ABQB-~N-LZS/1A

Which one of the following is correct
in respect of the above statements?

{a} Statement-—I and Statement—II
are correct and Statement—II
is the correct explanation of
Statement—I

(b) Statement—I and Statement—II
are correct and Statement—II
is not the correct explanation
of Statement—I

{c) Statement—! is correct and
Statement—II is incorrect

(d) Statement—I is incorrect and _
Statement—II is correct

75. Bisectors of two adjacent angles

A and B of a quadrilateral ABCD
intersect each other at a point P.
Which one of the following is
correct?

»

(a) 2ZAPB= £C+ £D

(b) ZAPB= £C+ 4D

(c) ZAPB=180°~(ZLA+ «£B)

(d) LAPB=180°-(LC+ £D)
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73. i ofifse 7% w6 Bys ABC #1 s<dw
BC, AC 3N AB® %A: X, Y 3R Z
forgatt w wrd wwm R

HHYA-] .

Ife AB> BC, @t

AB+ AZ < BC+ XC

wRYA-II ;

AZ = AY

IE wol & g § Feafofea R
FH-H1 TF W 87

(a)

(b)

fc)
(d)

F-] d FL-1 g 2 A«
FYA-11, FoF-1 H TE = R

FE-1 3 wY-1I wH R oA
HA-11, HYA-1 6 qf =are T8
H

HA-] TR 2 T FUA-11 A D

FYI—[ TEd & q° FYA-11 T2 B

74, R e 5 ABC ™ fnw ¥ fowd
ZACB = 60° 3 AC= x < BC &l oA
#fm 5 78 39 Rew ¥ C @
i = x §, BC % D W Ty B
T e % cF, ¢ & dfsn o g
A AD H F W firewan R)

HYA-] :

g ACD wfiarg § W wwerg 76 &

HYA-1I :

DF=x/[2

B-ABQB-N-LZS/1A

g Fel & gl § frefefea o @
. HT-H1 T et 27

(@) FW-1 § FE-II T T @
FA-11, FUF-] o e A 2

() ®E-1 T FeA-1l Fh . & M
FA-11, FuA-1 H gt =en JEh
2

(o) AR TE B q FUH—II TTeA B

(d) F-1 7T ? a1 FYa-11 /8§

75. S ABCD & 3 3n@a Ui A 3R B
F fovew g W g P W
wfoeafia w &1 Frafafae § @ F9-m
T WE 87

(@ 2£APB=/C+ /D

(b) £LAPB=/LC+ 4D

(c) ZAPB=180° ~(ZA+ £B)
(d) ZAPB=180° —(£C+ /D)

o[ R.T: O.
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76. In a triangle ABC, AD is the median Which of the above statements
through A and E is the midpoint is/are correct?
of AD, and BE produced meets

AC at F. Then AF is equal to {a) 1 only
: (b) 2 only
(@ ACTS ) AC/4 (c) Both 1 and 2
(d) Neither 1 nor 2
(c) AC/3 () AC/2

79. The chord of an arc of a circle is of
length x, the height of the arc is y
and the radius of the circle is z.
Which one of the following is

77. Three straight lines are drawn
through the three vertices of a
triangle ABC, the line through each

correct?
vertex being parallel to the opposite
side. The triangle DEF is bounded (@) yRz-y=x?
by these parallel lines. Consider the , 2
following statements in respect of (b) y@z-y) =4x

the triangle DEF :

1. Each side of triangle DEF is
double the side of triangle ABC (d 4yRz-y-= x?
to which it is parallel.

2. Area of triangle DEF is four
times the area of triangle ABC.

(c) 2yRz-y=x?

80. In a triangle ABC, £LB=2/C=2/A.
What is the ratio of AC to AB?

a) V2:1 b) J3:1
Which of the above statements (a) _() 3
is/are correct? (c 1:1 (d) 1:42
(@) 1 onl 81. What is the maximum distance
Y between two points of a cube of
(b) 2 only side 2 ¢cm?
Both 1 and 2 (@ 3 cm
{c) . Bo an (B) 243 cm
(d) Neither 1 nor 2 () 43 cm
(d) 2v2 cm

78. Let ABCD be a parallelogram. Let

X and Y be the midpoints of the 82. The areas of the three adjacent faces

sides BC and AD respectively. Let
M and N be the midpoints of the
sides AB and CD respectively.
Consider the following statements :

1. The straight line MX cannot be
parallel to YN.

2. The straight lines AC, BD, XY
and MN meet at a point.

B~-ABQB-N-LZS/1A

of a cuboidal box are x, 4x and
9x square unit. What is the volume
of the box?

(@) 6x? cubic unit

(b) 6x3/2 cubic unit
(c) 3x3/2 cubic unit
(d) 2x3/2 cubic unit
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76. Trqst ABC® AD, A @ st g wifer R
3 E, AD #1 meafeeg § 901 BE Sqn
R AC ® FR et 31 AF foras st

??
{a) AC/S () AC/4
fc) AC/3 (d AC/2

77. @ P ABC & ol ofist ® €7 ww
tEn o= et &1 v o @ S gl
@ st wgE W % e ) e
DEF § aww=r vl @ wherg 21
DEF % w=of # Frrffiaa wemt m farem
Hif :

1. B DEF & v@F =, PoE
ABC # 3@ y=1 & AT} faw
g TR R

2. B DEF ®1 &wwwm, e ABC
% &% TR T R

IRE HeEl § 4 RA-T/@ /R
(a) A 1

(b) FaE 2

{c) 13 2E

d A@W13mad2

78. W TR f5 ABCD v waRR agyw R
TR AR fF X of v s yemsit BC
st AD & weafag & o M ek N R
st AB ¥R cD & wmwfag ¥
Prafirfe wul w fmm fifvm -
1. O W MX, YN & @9 T 8
e |

2. Wd WK AC, BD, XY d MN T
forg w firerht &1

B-ABQB-N-LZS/1A

29

I0E FuAt A w1/ g 3/E?
(a) Fa& 1

(b) R 2

¢ 1 3R 2 I

(d) I/ 13I& 2

79. Tu H fredt =g A S A = xR
w9 f IEE y A g6 A B oz R
frafafaa & @ F9-w1 & wd &7

(o) yRz-y =x?

(b) yz-y=4x>
() 2ylz-y=x?
(d) 4yRz-y=x>

80. W & ABC # «B=2£C=2/A.
AC & AB R 37 &1 87

(@) v2:1 b) VJ3:1
(¢ 1:1 (d 1:42
81. 2cm ¥o1 9 Rt o F @ forgatt &

e tfirmam gf fomehi 27

(@ ~3 cm

(b} 2J3 cm

(c) 4V3 cm

{d) 2v2 cm

82. W& wR fesd & oW angw wosl &
AIFA x, 4x a1 Ox T THFE gl o=
HT G 91 87

(@) 6x?2 v THTE

(b) 6x3/2 w7 gé
¢} 3x3/2 ga e
(d) 2x3/2 w7 37

[P.T.O.
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83. A cylinder circumscribes a sphere.
What is the ratio of volume of the
sphere to that of the cylinder?

fa) 2:3
(b} 1:2
fcg 3:4
(d 3:2
84. If for a triangle the radius of the

circumcircle is double the radius of

the inscribed circle, then which one
of the following is correct?

(a) The triangle is right angled
(b) The triangle is isosceles

(¢} The triangle is equilateral
(d) None of the above

For the next two (2) items that follow :

A toy is in the form of a cone mounted on
the hemisphere with the same radius. The
diameter of the base of the conical portion
is 12 cm and its height is 8 cm.

85. What is the total surface area of the
toy?

(@) 132n cm?
(b) 112n cm?
(c) 96n cm?

(d} 66m cm?

86. What is the volume of the toy?
{a) 180m cm®
(b) 240n cm?3
(¢) 300m cm?3
(d) 320n cm?®
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For the next three (3) items that follow :

A right triangle having hypotenuse 25 cm
and legs in the ratio 3 : 4 is made to revolve
about its hypotenuse. (n = 3-14)

87. What is the volume of the double
cone so formed?

(a)
(b)
{c)
(d)

3124 cm?
3424 cm?®
3768 cm?3
3924 ¢m3

88, What is the surface area of the
double cone so formed?

{a)
(b)
{c)
(d)

11012 cm?
11114 cm?
13104 cm?
1318:8 cm?

89. Consider the following statements :

1.

The volume of the cone
generated when the triangle is
made to revolve about its
longer leg is same as the
volume of the cone generated
when the triangle is made to
revolve about its shorter leg.
The sum of the volume of the
cone generated when the
triangle is made to revolve
about its longer leg and the
volume of the cone generated
when the triangle is made to
revolve about its shorter leg is
equal to the volume of the
double cone generated when
the triangle is made to revolve
about its hypotenuse.

Which of the above statements
is/are correct?

(a)
(b)
(c)
(@)

1 only

2 only

Both 1 and 2
Neither 1 nor 2
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83. T 7 frdfl Wk @ 9T W R)

TeE F e & AH F AT @

(a)
(b)

2:3
1:2
¢) 3:4
(d} 3:2

84. 7Rt frdt i ¥ forw 3w P & wfgw
%t Bem |s I=dw At fsn A/ g
2, ot fraferfen # @ F9-m o wd 27

' {a) ﬁgawaﬁvﬁa%' |
(b) Ty wfeeng &
(c) Ty wHeTg &

(d) 3§ A FE T

M 3 A 2 (2) wEt & A

w Radin s sl W aifte wam s &
T 9% F §9 F | Tk "W & YR F AWM
12 cm 9 3! ST 8 cm &1

85. faeiR &1 & ydt Swa = 37
(@) 132n cm?
(b) 1127 cm?
{c) 96m cm?
{d) 66n cm?

86. Raci™ =1 e + 87
{a) 180n cm®
(b) 240m cm3
(c) 300m cm?
{d) 320m cm3
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I IR o i (3) JEn & fou

o ge g =), et #of 25 om € 9 el
3:4 % g & &, W w0 F qiE: A
HGT ST R {1 = 3-14)

87. 3w v Tififa Reig =1 e w2 @7

(@) 3124 cm?
(b) 3424 cm?
(c) 3768 cm?3
(d) 3924 ¢cm3

88. 3@ v&n fffa fivg =1 g¥w aasa =0

27

{a) 11012 cm?
(b} 11114 cm?
(c) 13104 cm?
(d) 13188 cm?

89, Tim=fafiga st w fomm v .

1. s awh g F i@ e &
fernor W B W wg @
A, B ATl e & i B
# ofeE FR ¥ St g &
3TFEH & §AM B

3

afEERY 04 @ IfRE WE & NI
w Am, F &k uf@: B #
e N ¥ wfa g %
T & ST B

gt weEl § ¥ FA-T/A wd R/37

(@) &A1

(b) FEaA2

(c) 1 3 2

(d) I 13MId2
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For the next three (3) items that follow :

A piece of land is in the form of a
parallelogram and the perimeter of the land
is 86 m. The length of one side exceeds
the other by 13 m and one of the diagonals
is 41 m.

90. What is the area of the
parallelogram?

(a) 63 m?
(b) 96 m?
(c) 126 m?2

(d) 252 m?

91. What is the shorter height of the
parallelogram?

faj 90 m
(b) 75m
) 55m
(d) 45m

92. Consider the following statements :

1. The difference between the
diagonals of the parallelogram
is more than 20 m.

2. The difference between the
heights of the parallelogram is
more than 10 m.

B-ABQB-N-LZS/1A

Which of the above statements
is/are correct?

fa) 1 only
(b) 2 only
fcj Both 1 and 2

(d) Neither 1 nor 2

93. If one of the roots of the equation
px2 +gx+r=0 is three times the

other, then which one of the
following relations is correct?

(a) 3g% =16pr
() q* =24pr

fc) p=q+r

(d p+g+r=1

94, If the radius of a circle is increased
by 6%, then its area will increase by
(a) 6%
(b) 9%
{c) 12:36%

(d 16:64%

95. The class which has maximum
frequency is known as

(o) median class
(b} mean class
fc} modal class

{d) None of the above
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I A At f (3) Tel & R

T Eve TR g % &9 § ot yErs W
uRETe 86 m 21 UH W A @R, qEd ¥ A
13 m 1% 2 9 I0* U el A ol 41 m
2

90. THIRR 9 1 A6 1 27
fa) 63 m2
(b} 96 m?2
(c) 126 m?

(d) 252 m?2

91. WA Igw it B arelt S 7 27
(@ 90 m
() 75 m
¢ 55 m

fd) 45 m

92. Fimferfga oAl wt famm fiferg

1. @R agys & faeol & 20 m @
TR & =W B

2. AR 9gYS A =S d 10m @
AR F A R
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3o o A BA-w/A w2
(a) 9 1

(b) a2

¢ 1323

(d Ad@1AIA2

93. uRR WHFT px2 +gx+r=0 & W

A8 @ oq@ & dF R, Al
fafafiaa § @ F9-w1 & gy 9@ 27

fa) 3q* =16pr
b) q° =24pr

{c p=q+r

d) p+rq+r=1

94. IRk feft gu A B A 6% war R

M, A I9H YAGA fran @g smem?
(@ 6%

(b) 9%

(c) 12:36%

(d) 16:64%

95. Afirwan TTTATd I T F T Fed 57

{a) wfedsT @t
(b) weg it

c) FgTEH F
(d) 394 & | = T
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96. Consider the following statements

related to cumulative frequency
polygon of a frequency distribution,
the frequencies being cumulated
from the lower end of the range :

1. The cumulative frequency
polygon gives an equivalent
representation of frequency
distribution table.

2. The cumulative frequency
polygon is a closed polygon
with one horizontal and one
vertical side. The other sides
have non-negative slope.

Which of the above statements
is/are correct?

(a) 1 only
(b) 2 only
(¢ Both 1 and 2

{d) Neither 1 nor 2

97. Consider the following data :

1. Number of complaints lodged
due to road accidents in a
State within a year for
5 consecutive years

2. Budgetary allocation of the
total available funds to the
various items of expenditure

Which of the above data is/are
suitable for representation of a pie
diagram?

{a} 1 only

{b) 2 only

{c) Both 1 and 2
(d} Neither 1 nor 2
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98. When we take class

intervals
on the x-axis and corresponding
frequencies on the y-axis, and
draw rectangles with the areas
proportional to the frequencies of
the respective class intervals, the
graph so obtained is called

fa) bar diagram
{b) frequency curve
{c) ogive

(d) None of the above

99. If x;’s are the midpoints of the class

intervals of grouped data, f;’s are
the corresponding frequencies and
X is the mean, then what is
2 filx; = X) equal to?

{aj O
(b} -1
{cg 1

(d 2

100. Ten observations 6, 14, 15, 17, x+ 1,

2x -13, 30, 32, 34, 43 are written in
ascending order, The median of the
data is 24. What is the value of x?

{a} 15
(b) 18
{c) 20

(d} 24
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96. Th SIUENAl 90 & Ta) TRFRAT TgS

¥ g e sl w fREr

#ifsre, awemad A & fae i @
i it €

1. Gl dOFERa SgY, SReERar
T ot w g e wm
F B

2. WA ACARAT TGYR T T qgy
2 gl = o w3 = g
St ¥ I el R yEvEn
O R

IR Fut § A BH-T/D T /87
fa) ¥ 1

(b) I 2

¢) 132 <A

[d F@13mId2

97. Tafafga stiwet w fa=r fifvm .

1. 5 ®9ra aul & o ww T R @
o & 9 g USF TEEl & FRO
T M et Rt 6 den

2. =@ # faftm wdt & Fa Iwesy
Rt &1 s51e areves

I INiwel § | -4/ guna d
frefia forn/form s @i 2787

(@) Fad 1

(b) FA 2

(c) 13 2 3H
(d) @ 1sad2
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98. 3t & af IO B x-9¥ W I g™

JOATART B y-3F W A AA A
i s fawer 3 - T arre
I aTEmaTe & o § €, @ 39 1@
WTH TG 1 Fgelal &7

(a) <UE IRG

(b} ST T

(c) ST

(d) g 1§ QA Fd

99, A x;, wfeq M+ F F Wl F

wafeg 8, f;, W TOEmad § q
X W R, @ I f;(x; - x) PR st
27

@) O

(b)) -1

(€ 1

d 2

100. &9 Y& 6, 14, 15, 17, x+1, 2x - 13,

30, 32, 34, 43 3N F0 § @ M
g1 fwet & mfe 24 B x & WA
w1 87

fa) 15

(b) 18
{c) 20

dj 24
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Note : English version of the instructions is printed on the front cover of this Booklet.
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